

The Reciprocity Formula for Dedekind Sums Author(s): L. J. Mordell

Source: American Journal of Mathematics, Vol. 73, No. 3 (Jul., 1951), pp. 593-598

Published by: The Johns Hopkins University Press

Stable URL: http://www.jstor.org/stable/2372310

Accessed: 03/10/2009 14:50

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at http://www.jstor.org/page/info/about/policies/terms.jsp. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at http://www.jstor.org/action/showPublisher?publisherCode=jhup.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.



The Johns Hopkins University Press is collaborating with JSTOR to digitize, preserve and extend access to American Journal of Mathematics.

THE RECIPROCITY FORMULA FOR DEDEKIND SUMS.*

By L. J. Mordell.

Let p, q be two positive integers without a common divisor. It is well known that

(1)
$$\sum_{x=1}^{p-1} \left[qx/p \right] + \sum_{y=1}^{q-1} \left[py/q \right] = (p-1)(q-1),$$

where [z] denotes the integer part of z. There exists another result of this type discovered by Dedekind in discussing the linear transformation of the modular function $\log \eta(\omega)$, one form of which is

(2)
$$q \sum_{x=1}^{p-1} x[qx/p] + p \sum_{y=1}^{q-1} y[py/q] = \frac{1}{12}(p-1)(q-1)(8pq-p-q-1).$$

Rademacher [2] made a detailed study of this result and has published some five proofs. One is a joint proof with Whiteman, and the last has only just appeared. Some of them are arithmetical in character and quite simple. Another proof has just been given by Rédei [3], and a generalization by Apostol [1]. I notice, however, an entirely different way of considering the subject which is no less simple and relates the result to more general and obvious ones.

Let us consider the sum

$$S = \sum_{K} (qx + py)$$

extended over the integer sets (x, y) or say the lattice points P lying in the region K defined by

$$0 < x < p, \quad 0 < y < q, \quad qx + py < pq,$$

and so if O, A, B are the points (0,0), (p,0), (0,q) respectively, K is the open triangle OAB. We call K' the open triangle ACB where C is the point (p,q). We have a 1-1 correspondence between the lattice points P(x,y) in K and P'(x',y') in K' given by

$$x + x' = p, \qquad y + y' = q.$$

Since K and K' together contain (p-1)(q-1) lattice points, K contains exactly $\frac{1}{2}(p-1)(q-1)$ lattice points.

^{*} Received December 5, 1950.

It is well known and obvious that the formula (1) states that the number of lattice points in K + K' is the sum of those in the open triangles OAC and OBC.

In (3), we note that

$$\sum_{K} x = \sum_{x=1}^{p-1} x [q - qx/p] = \sum_{x=1}^{p-1} (p - x) [qx/p]$$

since [q - qx/p] values of y correspond to given x. Hence

$$\begin{split} S &= q \sum_{x=1}^{p-1} \left(p - x \right) \left[qx/p \right] + p \sum_{y=1}^{q-1} \left(q - y \right) \left[py/q \right] \\ &= pq \left(\sum_{x=1}^{p-1} \left[qx/p \right] + \sum_{y=1}^{q-1} \left[py/q \right] \right) - \sum_{x=1}^{p-1} qx \left[qx/p \right] - \sum_{y=1}^{q-1} py \left[py/q \right]. \end{split}$$

Then from (1) and (2), we have

$$S = pq(p-1)(q-1) - \frac{2}{3}pq(p-1)(q-1) + \frac{1}{12}(p-1)(q-1)(p+q+1),$$
 and so

(4)
$$S = \frac{1}{3}pq(p-1)(q-1) + \frac{1}{12}(p-1)(q-1)(p+q+1).$$

Thus the proof of (2) is reduced to the evaluation of the sum (3) as given in (4).

We solve now the more general problem of evaluating

$$(5) T = \sum_{\kappa} f(qx + py)$$

where f is an arbitrary polynomial and the summation is extended over the lattice points in K.

Write $\xi = qx + py$ for lattice points x, y in K so that ξ is not divisible by p or q and $0 < \xi < pq$. Then the numbers $pq - \xi$ cannot be represented in this way. For

if
$$pq - \xi = qX + pY$$
, then $pq = q(x + X) + p(y + Y)$,

and so $x + X \equiv 0 \pmod{p}$. Then x + X = p and similarly y + Y = q, and this is clearly impossible. The number of ξ is $\frac{1}{2}(p-1)(q-1)$ and so the ξ and $pq - \xi$ are (p-1)(q-1) in number, and so together they are precisely the integers X not divisible by p or q in the interval 0 < X < pq.

There is, however, such a representation for the numbers $2pq - \xi$. Write $\xi' = qx' + py'$ for lattice points x', y' in K' so that $pq < \xi' < 2pq$. We have now a 1-1 correspondence between the representation of ξ and ξ' given by

$$x' + x = p$$
, $y' + y = q$, $\xi' + \xi = 2pq$.

We prove two fundamental formulae. The first is

(7)
$$\sum_{y=1}^{q-1} \sum_{x=1}^{p-1} f(qx+py) = \sum_{K} f(\xi) + \sum_{K} f(2pq-\xi).$$

The left hand side consists of two parts corresponding to qx + py < pq, and to pq < qx + py < 2pq. The first is $\sum_{K} f(\xi)$, and on putting x = p - x', y = q - y', the second is $\sum_{K} f(2pq - \xi)$.

We prove next that

(8)
$$\sum_{X=1}^{pq-1} f(X) - \sum_{X=1}^{p-1} f(qX) - \sum_{X=1}^{q-1} f(pX) = \sum_{K} f(\xi) + \sum_{K} f(pq - \xi).$$

The left hand side of this is $\sum f(Y)$ extended over the numbers Y in 0 < Y < pq - 1 and not divisible by p or q. These numbers Y can be written as ξ or $pq - \xi$ since the numbers Y in 0 < Y < pq - 1 which cannot be represented by ξ are given by $pq - \xi$. This gives (8).

The two equations (7), (8) determine $\sum_{K} f(\xi)$ for any polynomial $f(\xi)$. Take $f(\xi) = \xi^2$, then (7) becomes

$$\sum_{y=1}^{q-1} \sum_{x=1}^{p-1} (qx + py)^2 = \sum_{K} \xi^2 + \sum_{K} (2pq - \xi)^2$$

and so

$$\begin{split} \tfrac{1}{6}q^2(q-1)p(p-1)(2p-1) + \tfrac{1}{6}p^2(p-1)q(q-1)(2q-1) \\ + \tfrac{1}{2}p^2q^2(p-1)(q-1) \\ = 2\sum_K \xi^2 - 4pq\sum_K \xi + 2p^2q^2(p-1)(q-1), \end{split}$$

since K contains $\frac{1}{2}(p-1)(q-1)$ lattice points.

Hence

(9)
$$\frac{1}{6}q(q-1)(p-1)(2p-1) + \frac{1}{6}p(p-1)(q-1)(2q-1)$$

$$-\frac{3}{2}pq(p-1)(q-1) = 2/(pq) \sum_{K} \xi^{2} - 4 \sum_{K} \xi.$$

Next (8) becomes

$$\sum_{X=1}^{pq-1} X^2 - q^2 \sum_{X=1}^{p-1} X^2 - p^2 \sum_{X=1}^{q-1} X^2 = \sum_{K} \xi^2 + \sum_{K} (pq - \xi)^2$$

or

$$\begin{split} &\frac{1}{6}pq\left(pq-1\right)\left(2pq-1\right)-\frac{1}{6}q^2p\left(p-1\right)\left(2p-1\right)\\ &-\frac{1}{6}p^2q\left(q-1\right)\left(2q-1\right)\\ &=2\sum_K\xi^2-2pq\sum_K\xi+\frac{1}{2}p^2q^2\left(p-1\right)\left(q-1\right). \end{split}$$

This becomes

$$(10) \quad \frac{1}{6}(pq-1)(2pq-1) - \frac{1}{6}q(p-1)(2p-1) - \frac{1}{6}p(q-1)(2q-1)$$

$$- \frac{1}{2}pq(p-1)(q-1)$$

$$= 2/(pq) \sum_{\kappa} \xi^{2} - 2 \sum_{\kappa} \xi.$$

These two equations (9), (10) determine $\sum_{K} \xi$, $\sum_{K} \xi^{2}$ and give the result (4). Thus (9) is

(11)
$$\frac{1}{6}(p-1)(q-1)(-5pq-p-q) = 2/(pq) \sum_{K} \xi^2 - 4 \sum_{K} \xi$$
, and (10) is

(12)
$$\frac{1}{6}(p-1)(q-1)(-pq+1) = 2/(pq) \sum_{K} \xi^2 - 2 \sum_{K} \xi$$
.

In fact the left hand side of (10) vanishes when p=1 or q=1, so we can write it as $\frac{1}{6}(p-1)(q-1)(apq+b(p+q)+c)$, where a, b, c are constants.

Equating terms in p^2q^2 , p+q, 1, clearly

$$\frac{a}{6} = \frac{2}{6} - \frac{1}{2}, \frac{c}{6} = \frac{1}{6}, \frac{b}{6} - \frac{c}{6} = -\frac{1}{6},$$

and so a = -1, c = 1, b = 0.

Hence from (11), (12)

(13)
$$2\sum_{K} \xi = \frac{1}{6}(p-1)(q-1)(4pq+p+q+1)$$

(14)
$$2/(pq) \sum_{K} \xi^{2} = \frac{1}{6} (p-1) (q-1) (3pq + p + q + 2).$$

The result (13) is the required result (4).

It is also clear that on taking $f(\xi) = \xi^{2n}$ in (7), (8), the equations determine $\sum_{K} \xi^{2n}$, $\sum_{K} \xi^{2n-1}$ when we know the values of $\sum_{K} \xi^{r}$, $0 \le r \le 2n - 2$.

If, however, in (7) we replace the function $f(\xi)$ by $f(\xi - pq)$ and subtract from (8), we have

(15)
$$\sum_{K} f(\xi) - \sum_{K} f(\xi - pq)$$

$$= \sum_{X=1}^{pq-1} f(X) - \sum_{X=1}^{q-1} f(pX) - \sum_{X=1}^{p-1} f(qX) - \sum_{x=1}^{q-1} \sum_{x=1}^{p-1} f(qx + py - pq).$$

Write in the usual notation for the Bernouillian polynomial $B_n(x)$,

(16)
$$te^{tx}/(e^t-1) = \sum_{n=0}^{\infty} B_n(x) t^n/n!,$$

so that

$$te^{tx} = \sum_{n=0}^{\infty} (B_n(x+1) - B_n(x)) t^n / n!, \quad B_n(x+1) - B_n(x) = nx^{n-1}.$$

If we take $f(X) = B_n(1 + X/(pq))$ in (15), we have the explicit formula for $\sum_{k} \xi^{n-1}$. This takes the shape

$$n \sum_{K} \xi^{n-1} = B_n(pq) - p^{n-1}B_n(q) - q^{n-1}B_n(p) + (pq)^{n-1}B_n(1) - \sum_{n=1}^{q-1} \sum_{n=1}^{p-1} B_n(x/p + y/q),$$

on noting that

$$\sum_{r=0}^{p-1} B_n(x+r/p) = B_n(px)/p^{n-1}.$$

(as remarked to me by Professor Rademacher).

We can also find an explicit formula for

$$p^{n+1}q^{n+1} \sum_{K} B_n(x/p + y/q)$$

as a polynomial in p and q. One of a different type has been given by Apostol for odd n by using in a different way lattice points in a triangle.

As well known, $B_n(X) = (-1)^n B_n(1-X)$, from (16). Hence when n is even, we have at once from (8),

$$2\sum_{K}B_{n}(x/p+y/q) = \sum_{X=1}^{pq-1}B_{n}(X/pq) - \sum_{X=1}^{p-1}B_{n}(X/p) - \sum_{X=1}^{q-1}B_{n}(X/q).$$

To find the result for all n, write (15) as

(17)
$$\sum_{K} f(\xi/pq) - \sum_{K} f(\xi/pq - 1)$$

$$= \sum_{Y=1}^{pq-1} f(X/pq) - \sum_{Y=1}^{p-1} f(X/p) - \sum_{Y=1}^{q-1} f(X/q) - \sum_{Y=1}^{q-1} \sum_{Y=1}^{p-1} f(X/p + Y/q - 1).$$

Write $B_n(X) = b_n X^n + b_{n-1} X^{n-1} + \cdots + b_0$. Take

$$f(X-1) = (b_n/\{n+1\})B_{n+1}(X) + \cdots + (b_0/1)B_1(X).$$

Then

$$f(\xi/pq) - f(\xi/pq - 1) = b_n/\{n+1\} (B_{n+1}(\xi/pq + 1) - B_{n+1}(\xi/pq)) + \cdots = b_n(\xi/pq)^n + b_{n-1}(\xi/pq)^{n-1} + \cdots = B_n(\xi/pq).$$

Since we can put $\xi = qx + py$, the result is given by (17) on summing for X etc.

University of Pennsylvania.

REFERENCES.

[1] T. M. Apostol, "Generalized Dedekind sums and transformation formulae of certain

- Lambert series," Duke Mathematical Journal, vol. 17 (1950), pp. 147-157.

 [2] H. Rademacher, "Zur Theorie der Modulfunktionen," Journal für die reine und angewandte Mathematik, vol. 167 (1931), pp. 312-336.

 ——, "Eine arithmetische Summenformel," Monatshefte für Mathematik und Physik, vol. 39 (1932), pp. 221-228.

 ——, "Egy reciprocitásképletröl a modulfüggvények elméletéböl," (with German résumé), Matematikai és Fizikai Lapok, vol. 40 (1933), pp. 24-34.

 ——, "Die Reziprozitätsformel für Dedekindsche Summen," Acta Scientiarum Mathematicarum, vol. 12, part B (1950), pp. 57-60.

 —— and A. Whitman, "Theorems on Dedekind sums," American Journal of
- [3] L. Rédei, "Elementarer Beweis und Verallgemeinerung einer Reziprozitätsformel von Dedekind," Acta Scientiarum Mathematicarum, vol. 12, part B (1950), pp. 236-239.

Mathematics, vol. 63 (1941), pp. 377-407.